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QUESTION 1

Which two statements are true about epsilon in a 4-node cluster? (Choose two.) 

A. Epsilon is used as a tie-breaker for determining a quorum. 

B. Epsilon is automatically assigned to the first node when a cluster is created. 

C. Epsilon is used for determining the up node in failover. 

D. Epsilon is automatically assigned to the last node added to a cluster. 

Correct Answer: AB 

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html 

 

QUESTION 2

A customer recently performed an ONTAP upgrade and would like to confirm the successful completion of the process. 

Which three actions would satisfy this requirement? (Choose three.) 

A. Execute the version command at the cluster shell. 

B. Verify the version from the new AutoSupport that was automatically triggered after an upgrade. 

C. A System Message notification will be shown upon reboot after a successful upgrade. 

D. Execute the system node upgrade-revert show command at the cluster shell. 

E. Execute the system node upgrade-revert show-task-status command at the cluster shell. 

Correct Answer: ACD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492712 

 

QUESTION 3

A FAS8200 system fails to boot because of a corrupted image on the boot media. Which action would be performed to
solve this problem? 

A. Copy the boot image from the root volume of the node. 

B. Download a network image using the netboot procedure. 

C. Use the boot_recovery command from the LOADER prompt. 

D. Execute the boot_primary command at the loader. 

Correct Answer: D 
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Reference: https://library.netapp.com/ecmdocs/ECMM1278407/html/sysadmin/GUID-7B9B378A-00014430-A82D-1382
E9A570C5.html 

 

QUESTION 4

An A700s system failed to boot. The administrator finds the boot image has been corrupted. 

In this scenario, which two actions would be performed to restore the image? (Choose two.) 

A. Copy the image from an external USB drive. 

B. Copy the image from the partner. 

C. Replace the boot device. 

D. Copy the image from a Web server using the netboot procedure. 

Correct Answer: AB 

 

QUESTION 5

A customer reports that a Linux system is unable to access a required NFS export on an ONTAP SVM named
"svm01-02". This is an important server in their NIS environment and users are unable to log in. Referring to the logs,
they see several notifications of the message shown below. 

"exports.netgroup.dnsNoPtrRec: IP address "192.168.1.13" does not have a reverse mapping for its corresponding
hostname in the configured name servers when evaluating the export-policy rules for netgroup "linux_1" on Vserver
"svm01- 02"." 

In this scenario, what is causing the problem? 

A. The export policy has the wrong netgroups defined. 

B. The DNS server does not have the relevant mapping from the IP address to the hostname. 

C. The ns-switch sources are set to files,dns instead of hosts,dns. 

D. The netgroup definition in NIS is missing the 192.168.1.13 IP address. 

Correct Answer: C 
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